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1BEREE(NT : BEHBAEIRAT(EDPMH) EEEHA : 108/04/09 iBERS : fEALL0
HIBEGRR) : 2 EXEBERTM (abs)
AChEIDHIZR (%)
we | memn | SETE B —am TIFRARCBRR
o K | IRK | BRK | IEK i
1 | BsEREEER- IN=E4 2 4
2 | BsEEEEER- =)ad 11 9
3 | msEHEER- U] 2 9
4 | BsEHESER- Fidf I 3 8
5 | MsEHESER- B 1 6
6 | BsEHESER- Sk &d 2 2
7T | BsEHESER- HEs 2 13
8 | msEHEEER- | 2 5
s 1 REERES TEEEE, R TEEPRE , MABRSEEE
2 VIR (%) = (CHBERNME - ERERNE) + HRERNE x 100
3\ AChEMMEIRHEEEREEST :
(1)0—-—34%(=34.5)&F:61%°
(2)35-44% (S44.5)UEE : BAAEBIGERRINENE @ THERETRECHHE o
. (3) 45% (>44.5) DI : BIESSHEE - DBISHEMESMIGE & SEDLEESNZERR
Sl
(EBEER - WKERELESIDENSESIBEES
4 BEEAGE : BHERE () ; BHERE (+)  BRHTE 1 B+ERER50% - 2@B+ERR100%
5 \ BERBESRHRIBFRIES - EEDHBR—ERIIRG - LAIEEER -
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IREREEN : BSEHERNBIRAR(E D) KEREIHE : 108/04/10 #BEES : fElRL0
HIREGD) : 2 BERE M (abs) ¢
.o AChEHNHIZE (%)
we | memn | SETE B B TIFRARCBRR
HRK IRK HRK IRK
1 fESRHEERR- HMARATE 4 7
2 fESRHEERR- SRS 3 4
3 fESRHEERR- N =E1 2 6
4 BSEHEERR- | BMEIE 3 3
5 fESEHEERR- [=lag 12 4
6 | RsEHESER- LHES] 5 8
7 fESEHEERR- FF 5 4
8 fESEHEERR- EES 5 6
9 | RsEHESER- A=) 6 9
10 | BAEHEEER- I 6 8
11 | RSEHESER- = 5 4
e 1 BRIBERES TEREE, & TREPRE | MAESIS S
2 ~HDEIZE (%) = (HIBHERYE - SRMARNE) + HIBHERNE X 100
3 v AChEMISIRHEIEERER AT
(1)0—-34%(=34.5)&F:618°
(2)35—-44% (<44.5) MEFE: BRFMEEMEIRIFNERNE  THERETREEINE -
e (3) 45% (>4 4.5) DbF : BILZSAMER - WERHHESMZE  BERXEEEHRERER
Sl
{LEBEES - WRESEESE LRSI ERS -
4~ BEENTAEE : EMRIE (1) ; BHRE (+)  BRAT 1 E+HRKRE 0% 2E+ERR100%
5 \ EERBESRIRIEFEERE  EE0RKR—RESRE - LREEER -
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IREREEN : BSEHERNBIRAR(E D) KEREHE : 108/04/11 BEES : fElRL0
HIREAG) : 2 BB R (abs) :
o AChEHIHIZR (%)
we | memn | SETE B B TIFRARCBRR
HRK IRK HRK IRK

1 BEEHEERR- | BMEREOR 1 2

2 | BSEHEERR- = 2 8

3 | BSEHEERR- S 5 12

4 | [BSEHEEER- 285 5 4

5 | RSEHEERR- HEsE 3 2

6 | BSEHEERR- =1 3 3

T | BSEHEERR- bS] 1 5

8 | MSEHEERK- MER 3 9

9 | MSEHEERR- = 2 13

10 | BSBHESER- N=E 8 6
e 1 RRDEEEs TENEE, B TeE0ME , ARSI EE

2 ~ IR (%) = (HIBARME - ERARNE) + HIBHARKE X 100
3 v AChEMHI=HEEEREREAT :
(1)0—-—34%(=<34.5)&F:61%°
(2)35—-44% (=44.5)DEE : BIOMESMIEHRINGENE - WHERETHEEHYE -

_— (3) 45% (>4 4.5) DbFE : BILZSAMR - WERBHHESMNZE - BEDXEEEHRERE
Sl

{LENARER - WIKEREEERADEEERARE -
 IREENRANER : BIERE (-) 5 BERE (+)  BRATE1E+RERKRE0% > 2@+3RAKR100%
* ERRIEERHRIRF IR - BRBRKR—EREIRE F LRNFESK -




